Online class # 04

Date: 06/07/2021

Chapter 04 (Gradient, Divergence, Curl)
Time: 0935 — 1040

Video: https://youtu.be/Y KzAmMwC8MkQ

Jashore University of Science and Technology Dr Rashid, 2021




S1.14 ¥ 3 23t o
14 Vg = 2_'xa,2 P gt 34
Hnd @0 y,3) i Q-2 D=4

find Qb(x,y,Z) if qb(lv'—_g’z) = 4- Solve !

. 2
51, If Vd) = 2xy23 i+ x°z0§ + 3x2yz k,

LA
37 2 8% LadyZ k
2_1212 \ 4 2 3 -+ g

(% 4,2) = Ky + 20

Dr Rashid, 2021



2% 'zr% éﬁv
TN( - syl I T Bg
of - L:BV—ZM?? W I e e I +'$v®f%>

D S| g 2y Y- Ay S

)

Dr Rashid, 2021






N A& Adendt ,v(,g‘yl-,-,‘1(l» evee, (o il

2
73. Evaluate V (lnr).
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Divergence of vector field
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alox(V.,) > 0 dlox(V,) < 0
a19y(V,) > 0 aloy(V,) <0
V-(V)>0 V-(V) <0
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v 2 2 _ . _
=9. Find the unit outward drawn normal to the surface (x —1)" +y~ +(z+2)" = 9 at the point (3,1, 4) .
Ans. (21 + § — 2k)/3

60. Find an equation for the tangent plane to the surface xz° + x“y = z — 1 at the point (1,-3,2).
Ans. 2x —y —3z +1 =0 | =

L) - 2 .
61. Find equations for the tangent plane and normal line to the surface z = x”+y~ at the point (2,—1,5).
x—2 _y+1

Ans., 4x — 2y —z = 5, = . x=4t+2, y==2t—1, z =—t+5

2 2 . . Y
. Pind the directional derivative of cb = 4xz° — 3x y“z at (2,-1,2) in the dlrection. 2i—3j + 6Kk.
Ans. 376/7

. Find the directional derivative of P = 4e2xﬁy+z at the point (1,1,—1) in a direction toward the point
(—3,5,6). Ans. —20/9 | '
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